

DOUBLE PYRAMIDAL CENTRAL CONFIGURATION  
WITH HONEYCOMB BASE

Xia Su<sup>1</sup>, Chunhua Deng<sup>2 §</sup>, Shu Wen<sup>3</sup>

<sup>1,2,3</sup>Faculty of Mathematics and Physics  
Huaiyin Institute of Technology  
Jiangsu, 223003, P.R. CHINA

**Abstract:** In this paper, we discuss a double pyramidal central configuration with honeycomb base.

**AMS Subject Classification:** 70F

**Key Words:**  $N$ -body problem, double pyramidal, central configuration, honeycomb base

1. Introduction

Celestial mechanics is a subject with a tremendously long and varied history. A very old problem in Celestial Mechanics is the study of central configurations of the  $N$ -body problem. One of the reasons why central configurations are interesting is that they allow to obtain explicit homographic solutions of the  $N$ -body problem (see [3, 7, 9, 11]).

The problem of finding the central configurations of a system of  $N$  particles in the plane has been the subject of many papers (see [1, 2, 4, 5, 6, 8, 10, 12, 13, 14]) during the last two hundred years. One of the reasons why central configurations are interesting is that they allow us to construct exact solutions of the  $N$ -body problem.

The classical Newtonian  $N$ -body problems study the motion of  $N$  point masses under the action of Newton's gravitation law of attraction. Let  $q_i \in R^d, i = 1, \dots, N$ , be the positions of the bodies and  $m_j > 0, j = 1, \dots, N$ , the

respective masses. We assume that mass, time, and distance units are chosen in such a way that the masses  $m_i, i = 1, \dots, N$ , the gravitational constant, and the period of the system are all equal to one. The motion of  $N$  masses in the plane is described by the following nonlinear system of second order differential equations

$$\ddot{q}_i = \frac{\partial U(q)}{\partial q_i}, \quad i = 1, \dots, N. \quad (1.1)$$

The function  $U(q)$  is the potential function that generates an attractive force between each pair of bodies. In particular, we are interested in homogeneous Newtonian potential of degree  $-1$  which is the most important in the celestial mechanics:

$$U(q) = U(q_1, \dots, q_N) = \sum_{i < j} \frac{1}{|q_i - q_j|}. \quad (1.2)$$

Excluding the singularities of the equations, the configuration space for the  $n$  masses is the space of all distinct position vectors for which the center of mass is fixed at the origin, i.e.,:

$$X = \{q = (q_1, \dots, q_n) \in R^2 : \sum_{i=1}^N m_i q_i = 0, q_i \neq q_j, \text{ for } i \neq j\}. \quad (1.3)$$

The configuration  $q = (q_1, \dots, q_n) \in X$  is called a central configuration if the acceleration vectors of the bodies satisfy:

$$\sum_{j=1, j \neq k}^N \frac{m_j m_k}{|q_j - q_k|^3} (q_j - q_k) = -\lambda m_k q_k \quad (1.4)$$

for a constant  $\lambda$ . i.e., if the acceleration vector of every particle is directed towards the center of mass and its modulus is proportional to the distance from the particle to the center of mass. Furthermore  $\lambda = \frac{U}{I}$  and  $I$  is the moment of inertial of the system, i.e.

$$I = \sum_{i=1}^N m_i |q_i|^2. \quad (1.5)$$

Recently there are some interesting results in pyramidal central configurations (see [10, 13]), here we are interested in the double pyramidal central configuration for a 15-body problem, where the base of this central configuration is honeycomb-like. we consider the sufficient and necessary condition when the configuration is a central one for some mass vectors.

## 2. Some Results and their Proofs

We assume that the radiuses of the three circles with the same origin are  $r_0$ ,  $\sqrt{3}r_0$ ,  $2r_0$  respectively, and the masses located in the same circle are at the vertices of a regular polygon. The regular polygon are regular triangle, regular hexagon and regular triangle from inner to outside. If we change perspective, the paragraph will be a honeycomb-like configuration.

Without loss of generality we can assume that

$$q_i = (4 \cos \frac{2(i-1)\pi}{3}, 4 \sin \frac{2(i-1)\pi}{3}, 0), \quad i = 1, 2, 3, \quad (2.1)$$

$$q_i = (2\sqrt{3} \cos(\frac{\pi}{6} + \frac{(i-4)\pi}{3}), 2\sqrt{3} \sin(\frac{\pi}{6} + \frac{(i-4)\pi}{3}), 0), \quad i = 4, \dots, 9, \quad (2.2)$$

$$q_i = (2 \cos(\frac{\pi}{3} + 2\frac{(i-10)\pi}{3}), 2 \sin(\frac{\pi}{3} + 2\frac{(i-10)\pi}{3}), 0), \quad i = 10, 11, 12, \quad (2.3)$$

$$q_{13} = (0, 0, 0), \quad q_{14} = (0, 0, h), \quad q_{15} = (0, 0, -h), \quad (2.4)$$

where  $h(h > 0)$  be the distance from  $q_{14}$  or  $q_{15}$  to the honeycomb-like base.

**Theorem 1.** *Under the assumptions of (2.1) – (2.4), if  $m_1, \dots, m_{15}$  form a double pyramidal central configuration with a honeycomb-like base, then  $m_{14} = m_{15}$ .*

*Proof.* Let

$$\mathbf{i} = (1, 0, 0), \quad \mathbf{j} = (0, 1, 0), \quad \mathbf{k} = (0, 0, 1) \quad (2.5)$$

From  $(1.4)_{k=1} \cdot \mathbf{k}$  and the assumptions of (2.1) – (2.4), we have:

$$\frac{hm_{14}}{(\sqrt{16+h^2})^3} - \frac{hm_{15}}{(\sqrt{16+h^2})^3} = 0 \quad (2.6)$$

then

$$m_{14} = m_{15}. \quad \square \quad (2.7)$$

**Theorem 2.** *Under the assumptions of (2.1) – (2.4), if  $m_1, \dots, m_{15}$  form a double pyramidal central configuration with a honeycomb-like base, then*

$$m_2 = m_3, m_4 = m_9, m_5 = m_8, m_6 = m_7, m_{10} = m_{12}. \quad (2.8)$$

*Proof.* Let

$$a = \frac{2}{(4\sqrt{3})^3}, \quad b = \frac{1}{(\sqrt{28})^3}, \quad c = \frac{1}{(\sqrt{52})^3}. \quad (2.9)$$

Under the assumptions of (2.1) – (2.4), by (1.4) we have

$$A\alpha = 0, \quad (2.10)$$

where

$$\alpha = (m_1, m_2, \dots, m_{11}, m_{12})^T, \quad (2.11)$$

and

$$A = \begin{pmatrix} 0 & a & -a & \frac{1}{8} & 2b & c & -c & -2b & -\frac{1}{8} & 4a & 0 & -4a \\ 4a & 0 & -4a & 8b & \frac{1}{2} & -\frac{1}{2} & -8b & -4c & 4c & 16a & -16a & 0 \\ 4a & -4a & 0 & 4c & -4c & -8b & -\frac{1}{2} & \frac{1}{2} & 8b & 0 & -16a & 16a \\ \frac{1}{2} & -8b & 4c & 0 & -24a & -\frac{1}{36} & 0 & \frac{1}{36} & 24a & -\frac{1}{4} & -2b & \frac{1}{16} \\ 4b & -\frac{1}{4} & -2c & 12a & 0 & -12a & -\frac{1}{72} & 0 & \frac{1}{72} & \frac{1}{8} & -\frac{1}{32} & b \\ 4c & \frac{1}{2} & -8b & \frac{1}{36} & 24a & 0 & -24a & -\frac{1}{36} & 0 & \frac{1}{16} & -\frac{1}{4} & -2b \\ 4c & -8b & \frac{1}{2} & 0 & -\frac{1}{36} & -24a & 0 & 24a & \frac{1}{36} & -2b & -\frac{1}{4} & \frac{1}{16} \\ 4b & -2c & -\frac{1}{4} & \frac{1}{72} & 0 & -\frac{1}{72} & -12a & 0 & 12a & b & -\frac{1}{32} & \frac{1}{8} \\ \frac{1}{2} & 4c & -8b & 24a & \frac{1}{36} & 0 & -\frac{1}{36} & -24a & 0 & \frac{1}{16} & -2b & -\frac{1}{4} \\ 16a & -16a & 0 & \frac{1}{4} & -\frac{1}{4} & -\frac{1}{16} & -2b & 2b & \frac{1}{16} & 0 & -8a & 8a \\ 8a & 0 & -8a & b & \frac{1}{32} & \frac{1}{8} & -\frac{1}{8} & -\frac{1}{32} & -b & 4a & 0 & -4a \\ 16a & 0 & -16a & \frac{1}{16} & 2b & -2b & -\frac{1}{16} & -\frac{1}{4} & \frac{1}{4} & 8a & -8a & 0 \\ \frac{1}{16} & -\frac{1}{32} & \frac{1}{32} & 12a & 0 & -12a & -12a & 0 & 12a & \frac{1}{8} & -\frac{1}{4} & \frac{1}{8} \\ 0 & \frac{1}{32} & -\frac{1}{32} & 4a & 8a & 4a & -4a & -8a & -4a & \frac{1}{8} & 0 & -\frac{1}{8} \end{pmatrix}. \quad (2.12)$$

With the elementary row transformation of matrix  $A$ , we can obtain the following matrix equation:

$$B\beta = 0, \quad (2.13)$$

where

$$\beta = (m_2 - m_3, m_4 - m_9, m_5 - m_8, m_6 - m_7, m_{10} - m_{12})^T, \quad (2.14)$$

and

$$B = \begin{pmatrix} a & \frac{1}{8} & 2b & c & 4a \\ -4a & 4c - 8b & -4c - \frac{1}{2} & \frac{1}{2} - 8b & -16a \\ -8b - \frac{1}{2} & -\frac{1}{36} & -\frac{1}{36} - 24a & -24a & -2b - \frac{1}{16} \\ \frac{1}{4} - 2c & \frac{1}{72} - 12a & 0 & 12a - \frac{1}{72} & b - \frac{1}{8} \\ 4c + 8b & 24a & \frac{1}{36} + 24a & \frac{1}{36} & \frac{5}{16} \end{pmatrix}. \quad (2.15)$$

With the simple computation by *MATLAB*, we have

$$\det(B) \neq 0 \quad (2.16)$$

thus (2.13) has the unique trivial solution  $\beta = (0, 0, 0, 0, 0)$ , i.e.

$$m_2 = m_3, \quad m_4 = m_9, \quad m_5 = m_8, \quad m_6 = m_7, \quad m_{10} = m_{12}. \quad \square \quad (2.17)$$

**Theorem 3.** *Under the assumptions of (2.1) – (2.4), if  $m_1, \dots, m_{15}$  form a double pyramidal central configuration with a honeycomb-like base, then*

$$m_1 = m_2 = m_3, m_4 = m_5 = \dots = m_9, m_{10} = m_{11} = m_{12}. \quad (2.18)$$

*Proof.* Let

$$a = \frac{2}{(4\sqrt{3})^3}, \quad b = \frac{1}{(\sqrt{28})^3}, \quad c = \frac{1}{(\sqrt{52})^3}. \quad (2.19)$$

By (2.1) – (2.4), the matrix  $A$  and the system (1.4), similar to the proof of Theorem 2.2, under the elementary transformation of matrix  $A$  we have

$$C\gamma = 0, \quad (2.20)$$

where

$$\gamma = (m_1 - m_3, m_4 - m_7, m_5 - m_6, m_8 - m_9, m_{10} - m_{11})^T, \quad (2.21)$$

and

$$C = \begin{pmatrix} 4a & 8b & \frac{1}{2} & -4c & 16a \\ 4a & 4c + \frac{1}{2} & 8b - 4c & \frac{1}{2} - 8b & 16a \\ 16a & \frac{1}{16} & 2b & -\frac{1}{4} & 8a \\ 16a & 2b + \frac{1}{4} & -\frac{3}{16} & 2b - \frac{1}{16} & 8a \\ \frac{1}{16} & 0 & 24a & -24a & \frac{1}{4} \end{pmatrix}. \quad (2.22)$$

With the simple computation by *MATLAB*, we have

$$\det(C) \neq 0, \quad (2.23)$$

thus (2.20) has the unique trivial solution  $\gamma = (0, 0, 0, 0, 0)$ , i.e.

$$m_1 = m_3, \quad m_4 = m_7, \quad m_5 = m_6, \quad m_8 = m_9, \quad m_{10} = m_{11}. \quad \square \quad (2.24)$$

From Theorem 2.2 we have  $m_2 = m_3$ ,  $m_4 = m_9$ ,  $m_5 = m_8$ ,  $m_6 = m_7$ ,  $m_{10} = m_{12}$ , then

$$m_1 = m_2 = m_3, \quad m_4 = m_5 = \cdots = m_9, \quad m_{10} = m_{11} = m_{12}. \quad (2.25)$$

In the following we give a numerical result based on the computation by *MATLAB*.

**Theorem 4.** *Under the assumptions of (2.1) – (2.4), and let  $m_1 = m_2 = m_3 = \mu_1$ ,  $m_4 = m_5 = \cdots = m_9 = \mu_2$ ,  $m_{10} = m_{11} = m_{12} = \mu_3$ , then for suitable  $h \in (2.5620, 3.2176)$ ,  $m_1, \dots, m_{15}$  form a double pyramidal central configuration with a honeycomb-like base.*

*Proof.* Under the assumptions of (2.1)–(2.4) and the respective masses from above, we can obtain the following matrix equations about  $\chi = (\mu_1, \mu_2, \dots, \mu_5, \lambda)^T$ :

$$D\chi = 0, \quad (2.26)$$

where

$$D = \begin{pmatrix} \frac{1}{16\sqrt{3}} & \frac{1}{4} + \frac{1}{7\sqrt{7}} + \frac{7}{52\sqrt{13}} & \frac{1}{4\sqrt{3}} + \frac{1}{36} & \frac{1}{16} & \frac{8}{\sqrt{16+h^2^3}} & -4 \\ \frac{1}{8} - \frac{1}{56\sqrt{7}} + \frac{3}{104\sqrt{13}} & \frac{1}{72} + \frac{5}{96\sqrt{3}} & \frac{1}{32} + \frac{1}{56\sqrt{7}} & \frac{1}{24\sqrt{3}} & \frac{2}{\sqrt{12+h^2^3}} & -1 \\ \frac{1}{4} - \frac{1}{14\sqrt{7}} + \frac{1}{52\sqrt{13}} & 0 & -\frac{3}{32} - \frac{1}{56\sqrt{7}} & 0 & 0 & 0 \\ \frac{1}{36} & -\frac{3}{16} + \frac{5}{28\sqrt{7}} & \frac{1}{4\sqrt{3}} & \frac{1}{4} & \frac{4}{\sqrt{4+h^2^3}} & -2 \\ \frac{3}{\sqrt{16+h^2^3}} & \frac{6}{\sqrt{12+h^2^3}} & \frac{3}{\sqrt{4+h^2^3}} & \frac{1}{h^3} & \frac{1}{4h^3} & -1 \end{pmatrix}. \quad (2.27)$$

By straightforward computations one finds that the rank of  $D$  i.e.  $r(D) < 6$ , then there exists nontrivial solutions for the matrix equations (1.4).

In the following we give numerical evidence that the matrix equations have the positive solutions (see Table 1).

From above, we can find that when we choose some suitable  $h \in (2.5620, 3.2176)$ ,  $m_1, \dots, m_{15}$  form a double pyramidal central configuration with a honeycomb-like base.

These numerical results provide us evidence that for all  $h \in (2.5620, 3.2176)$ ,  $m_1, \dots, m_{15}$  form a double pyramidal central configuration with a honeycomb-like base.  $\square$

h	$\mu_1$	$\mu_2$	$\mu_3$	$\mu_4$	$\mu_5$	$\lambda$
2.5618	1.1408	5.9571	2.5919	-0.0010	19.8158	1.0000
2.5619	1.1409	5.9572	2.5921	0.0000	19.8189	1.0000
2.5620	1.1409	5.9573	2.5923	0.0011	19.8179	1.0000
2.6000	1.1721	5.9869	2.6630	0.4042	19.4168	1.0000
2.7000	1.2724	6.0933	2.8908	1.5190	18.0086	1.0000
2.8000	1.3994	6.2428	3.1794	2.7070	16.0380	1.0000
2.9000	1.5534	6.4383	3.5293	3.9634	13.4347	1.0000
3.0000	1.7347	6.6829	3.9412	5.2853	10.1198	1.0000
3.1000	1.9435	6.9793	4.4156	6.6714	6.0049	1.0000
3.2000	2.1802	7.3308	4.9535	8.1222	0.9894	1.0000
3.2176	2.2248	7.3986	5.0549	8.3844	0.0051	1.0000
3.2177	2.2508	7.4384	5.1139	8.5358	-0.5742	1.0000

Table 1

### Acknowledgments

All authors are supported by the the Scientific Research Foundation of Huaiyin Institute of Technology.

### References

- [1] A. Albouy, A. Cheneinerm Le problème des  $n$  corps et les distances mutuels, *Invent. Math.*, **131** (1998), 151-154.
- [2] A. Albouy, The symmetric central configurations of four equal masses, *Contemporary Math.*, **198** (1996), 131-135.
- [3] R. Abraham, J. Marsden, *Foundations of Mechanics*, London, Benjamin Cummings (1978).
- [4] Liu Wenzhong, Xu Fen, A honeycomb type central configuration of  $n$ -body problem, *Journal of Beijing Normal University (Natural Science)*, **42** (2006), 576-578.
- [5] Long Yiming, Sun Shanzhong, Zhang Shiqing, Central configurations and linear systems, *Journal of Nankai University (Natural Science)*, **35** (2002), 26-34.

- [6] Marshall Hampton, Richard Moeckel, Finiteness of relative equilibria of the four-body problem, *Invent. Math.*, **163** (2006), 289-312.
- [7] R. Moeckel, On central configuration, *Math. Z.*, **205** (1990), 499-517.
- [8] R. Moeckel, C. Simo, Bifurcation of spatial configuration from planar ones, *SIAM J Math Anal*, **26** (1995), 978-998.
- [9] K. Meyer, G.Hall, *Introductions to Hamiltonian Systems and n-body problems*, Berlin, Springer (1992).
- [10] T. Ouyang, Z. Xie, S. Zhang, Pyramidal central configurations and perverse solutions, *Elect. Journal of Differential Equations*, **106** (2004), 1-9.
- [11] A. Wintner, *Analytical Foundations of Celestial Mechanics*, Princeton, Princeton Univ Press (1941).
- [12] Z. Xia, Central configurations with many small masses, *J. Diff. Equations*, **91** (1991), 168-179.
- [13] Zhang Shiqing, Zhou Qing, Double pyramidal central configurations, *Physics Letters A*, **281** (2001), 240-248.
- [14] S.Q. Zhang, C.R. Zhu, Central configurations consist of two layer twisted regular polygons, *Science in China*, **32** (2002), 797-806.